5 (R15) 18 B #

TH4502 A 228 (KER)

~

Frx ENSEHAE: 144 o
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
A H Y5 x| Hiike | SEME) | fHEME) | REME) | SEME) [ #EE) [ RiEE)
130100 |[7ZLNC A # 11,850
FIE 1,800 0 1,800 10 1,674 1,566
£E 650 0 650 10 1,404 864
mE 4,730 500 4,230 10 1,512 1,728 648
G 590 200 390 10 1,188 1,080 972
130340 [/ £ICA LA 3 2,910
X 400 0 400 10 1,058
EE 200 0 200 10 1,782
G 1,880 0 1,880 10 - - - 1,296 626
BRE 430 0 430 10 950
130400 (1% % 3,574
= 2,900 0 2,900 10 - - - 1,566
R 570 0 570 10 1,944 1,728
130600 [NACA a3 1,363
32 1,155 10 1,145 5 4, 320 5,400 1,404
131100 [A 3 a3 14,161
Ik 741 741 0 13 1,296
=50 4,500 2,235 2,265 15 1,404 1,080 1,620 972
£E 1,710 260 1,450 13 972 972
FFrL 5,335 2,734 2,601 15 1,296 1,296 756
& 660 660 0 15 1,296
131700 [Fr Y a3 29,020
50 19,260 5,300 13,960 10 1,296 810 1,512 702
EE 8,260 756 7,504 12 1,080 648 1,080 432
FFL 1,500 0 1,500 10 1,080
131800 | [F5NAE 3 1,832
£E 475 356 119 0.2 131 65 80 76
®me 300 16 284 4 2,808 3,240 1,620
12 765 0 765 45 2,700 2,295
131910 [FHE 3 2,682
PN 21 0 21 0.045 63 62
EE 73 4 69| 05 302 302 270
il Ll 380 80 300 1 756 648 1,080 324
=l 568 5 563 5 2,700 2,700 1,080
IR 1,640 100 1,540 5 3,024 Z.700 3,780 2,160
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Frx ENFERHME 144
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)
131950 |4 # 3,150
EE 72 30 42 3 1,890 864 1,620 1,080
BE 970 256 714 3 1, 620 1,080 1,620 648
BRE 36 0 36 3 1,188 108
fE 445 0 445 5 1,296
133400 [L B R a3 7,438
£E 5538 2,758 2,780 10 3. 240 1,944 3,132 1,080
®me 1,000 300 700 10 2,376 3,456 2,268
G 900 280 620 10 1,404 1,404
134100 |81 a3 9,220
EE 1,670 430 1,240 5 2,268 1,728 2,484 1,512
iR 90 0 90 5 1,966 1,350
= 1,150 1,150 0 5 2,160 1,728
=] 5,810 3,105 2,705 5 2. 052 1. 566 2,268 1,458
134200 |F I ¥ 2,500
—1—U-5UK 2,500 0 2,500 10 - - - 1,350 1,296
134300 |t F 1% 4,859
®me 440 90 350 2 1,188 1,080 1,188 540
= 3,504 410 3004 0.3 1517 124 162 124
= 723 47 676/ 03 162 167 162
REAR 192 0 192 04 140
134400 [r<k a3 4,437
EE 1,503 48 1,455 [] 1,296 1,512 648
e 2,800 0 2,800 4 1,512 648
134500 [E—< > ¥ 2,996
=t 630 36 594] 0.15 108 108 97
= % 2,366 839 1527] 0.13 120 103 110 103
135100 [LNAVIF A 3 290
= 90 0 90 ] - - - 3,564 2,160
135200 | B = 3 156
25 44 10 34 2 2,592 2,808 2,592
EEIT 72 4 68 2 3. 240 3,510 1512
136100 [MAL & ¥ 17,245
FE 310 0 310 5 1,226
ms 2,560 190 2,370 5 2,160 1. 620 2,484 864
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5 (R15) 18 B #

TH4502 A 228 (KER)

Frx ESERHME: 144
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) AR b tExIER 5|
AH Y5 x| Hiike) | SEME) | HEME) | REME) | SEME) [ #EE) [ RiEE)

= 30 30 0 05 162

PN 3,650 0 3,650 5 1,944 1,188
136200 | 5% % 1,600

dtiEE 500 0 500 10 2,398

BR 1,100 0 1,100 10 - - - 3,370 2,873
136210 [A—2 1> a3 14,440

dtiEE 14,440 5,100 9,340 10 Z 322 1,987 3,024 950
136300 B ¥ 3 1,910

BIE 1,810 110 1,700 10 3. 240 Z 484 3,240 1,512

BE 100 0 100 10 1,728
136600 |f=F1a= % 480

dtiEE 100 0 100 10 4,536

EE 280 280 0 10 Z 484 2,376

KE 100 0 100 10 3,672
138100 | LLM=1F % 2,930

EE 595 30 565 0.1 97 119 76

®me 1,403 175 1228 0.1 130 81 194 57
138500 [LHLE “ 2,977

= 2,977 583 2394 0.2 19 68 76 65
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5 (R15) 18 B #

TH4502 A 228 (KER)

= ENFEHAE 399 Fk
(gL HEREFEST)
fnfh fnfh EEHh ENFE = (ke) AR b tExIER 5|
A H Y5 x| Hiike | SEME) | fHEME) | REME) | SEME) [ #EE) [ RiEE)

240700 | @R M A A ‘f‘* 10,459

FEIT 7,938 1,940 5,998 10 3. 456 1. 080 3,888 648

32 2,521 1,480 1,041 10 4,860 1,620 3,780 1,296
241320 | /\¥H a3 2,770

A 1,000 1,000 0 10 2,160 1,944

[N 1,770 180 1,590 10 3. 888 2,376 4,320 2,160
241481 [T ak> % 7,353

FIEIT 1,610 150 1,460 5 2,916 3,564 2,160

0 2,153 1,788 365 5 1,944 1,080 2,160 1,512
242320 (33 —ILK 3 1,490

=F 1,490 80 1,410 10 Z 484 4,320 3,132
242830 | SLYA T @ 9,350

L 9,350 4,260 5,090 10 5. 184 Z, 160 6,480 2,376
242850 | YA a3 200

RS 200 0 200 10 - - - 4320
246000 |LV\6Z a3 8,152

£E 525 10 515 0.25 994 670 486 248

=l 536 249 287] 03 702 432 702 432

& 1,308 635 673| 0.27 518 270 540 238

&= 484 432 52| 0.24 400 302 400

& 2,035 217 1,819 025 486 378 486 248

i 2,858 708 2,150( 0.25 410 346 432 302

= % 406 120 286 027 410 346 410 324
247100 |[7—JLR A a3 170

%0 153 94 60 8.5 15, 120 10, 260 12,960 7,560

=il 17 0 17| 85 8,640




